
Check on Calculator!

5) Prove.
a) tanxcscx | secx

𝑏)  ௧௔௡௫

௖௢௦௫
⎯⎯⎯⎯ |  

௦௜௡௫

ୡ୭ୱమ ௫
⎯⎯⎯⎯⎯

𝑐) 𝑐𝑜𝑡𝑥 + 𝑐𝑠𝑐𝑥 | 
𝑐𝑜𝑠𝑥 + 1

𝑠𝑖𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

𝑑) 𝑠𝑒𝑐𝑥 − 𝑡𝑎𝑛𝑥𝑠𝑖𝑛𝑥 | 𝑐𝑜𝑠𝑥
𝑒) 𝑐𝑜𝑠𝑥 + 𝑠𝑖𝑛𝑥𝑡𝑎𝑛𝑥 | 𝑠𝑒𝑐𝑥

𝑓) 
𝑠𝑖𝑛𝑥𝑐𝑜𝑠𝑥 + 𝑠𝑖𝑛𝑥

𝑐𝑜𝑠𝑥 + cosଶ 𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯|𝑡𝑎𝑛𝑥

8) Expand.
a) sin(𝑥 − 𝜋)

b) cos ቀ𝑥 +
𝜋

4
⎯⎯ቁ

𝑐) cos (3𝑥)

10) Simplify.
a) 𝑐𝑜𝑠2𝑥 𝑠𝑖𝑛𝑥 + 𝑠𝑖𝑛2𝑥 𝑐𝑜𝑠𝑥 =

b) cos ቀ
𝜋

3
⎯⎯ቁ cos ቀ

𝜋

6
⎯⎯ቁ + sin ቀ

𝜋

3
⎯⎯ቁ sin ቀ

π

6
⎯⎯ቁ =

c) cos ቀ
𝜋

6
⎯⎯+ 𝑥ቁ cos ቀ

𝜋

6
⎯⎯− 𝑥ቁ + sin ቀ

𝜋

6
⎯⎯+ 𝑥ቁ sin ቀ

𝜋

6
⎯⎯− 𝑥ቁ =

𝑑) 
tan ቀ

4𝜋
3

⎯⎯⎯ቁ − tan(π)

1 + tan ቀ
4𝜋
3

⎯⎯⎯ቁ tan (𝜋)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

11) Simplify.
a) 4sin 3𝑥 cos 3𝑥 =

𝑏) 8 sin(
𝜋

4
⎯⎯) cos

𝜋

4
⎯⎯=

c) cosଶ
1

2
⎯⎯𝑥 − sinଶ

1

2
⎯⎯𝑥 =

𝑑) 2 cosଶ 2𝑥 + 2 sinଶ 2𝑥 =

𝑒) 1 − 2 sinଶ
𝑥

2
⎯⎯=

𝑓) 2 cosଶ
𝜋

2
⎯⎯− 1 =

𝑔) 3 − 6 sinଶ 3𝑥 =

12) Prove.

a) tanx |  
𝑠𝑖𝑛2𝑥

1 + 𝑐𝑜𝑠2𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑏) 𝑐𝑜𝑡𝑥 − 𝑡𝑎𝑛𝑥|
4 cosଶ 𝑥 − 2

𝑠𝑖𝑛2𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

c) sin(𝑥 + 𝑦) − sin(𝑥 − 𝑦) |2𝑐𝑜𝑠𝑥𝑠𝑖𝑛𝑦
𝑑) 𝑠𝑖𝑛3𝑥 | 3𝑠𝑖𝑛𝑥 − 4 sinଷ 𝑥

13) Prove with/w/out conjugate. 

 
𝑐𝑜𝑠2𝑥

𝑠𝑖𝑛2𝑥 + 1
⎯⎯⎯⎯⎯⎯⎯⎯⎯ |  

1 − 𝑡𝑎𝑛𝑥

1 + 𝑡𝑎𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

14) 𝐼𝑓 ∶  𝑠𝑖𝑛𝛼 =
4

5
⎯⎯ ; 𝑄𝐼 & 𝑐𝑜𝑠𝛽 = −

5

12
⎯⎯⎯ ; 𝑄𝐼𝐼

𝐹𝑖𝑛𝑑: 
a) sin(𝛼 + 𝛽) =
𝑏) 𝑠𝑖𝑛2𝛼 =
𝑐) 𝑐𝑜𝑠2𝛽 =

15) Find 𝜃௦௧௣.

(Identities/SquareBothSides)
𝑎) 𝑠𝑖𝑛2𝜃 + 𝑐𝑜𝑠𝜃 = 0
𝑏) 𝑠𝑖𝑛𝜃 − cosଶ 𝜃 − 1 = 0
𝑐) 𝑠𝑖𝑛𝜃 + 𝑐𝑜𝑠2𝜃 = 0
d) cos𝜃cos2𝜃 − sin𝜃sin2𝜃 = −1
𝑒) 𝑠𝑖𝑛2𝑥 = 𝑐𝑜𝑡𝑥
𝑓) 1 + 𝑐𝑜𝑠𝜃 = 𝑠𝑖𝑛𝜃

1) Simplify.
a) sinxsecx
b) tanxcscx
c) sinxcscx
𝑑) sinଶ 𝑥𝑐𝑠𝑐𝑥
𝑒)  cosଶ 𝑥𝑡𝑎𝑛ଶ𝑥

𝑓) 
𝑠𝑖𝑛𝑥

𝑡𝑎𝑛𝑥
⎯⎯⎯⎯ 

𝑔) 
𝑠𝑒𝑐𝑥

𝑡𝑎𝑛𝑥
⎯⎯⎯⎯

ℎ) 
𝑐𝑜𝑠𝑥𝑡𝑎𝑛𝑥

𝑠𝑒𝑐𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

𝑖) 
𝑐𝑠𝑐𝑥𝑡𝑎𝑛𝑥

𝑐𝑠𝑐𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

3) Simplify

𝑎) 
1

sinଶ 𝑥
⎯⎯⎯⎯⎯− 1

𝑏) 
1

1 − 𝑠𝑖𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯+

1

1 + 𝑠𝑖𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯ 

2) Simplify
𝑎) 𝑐𝑜𝑡𝑥 + 𝑐𝑠𝑐𝑥
𝑏) 𝑠𝑖𝑛𝑥 + 𝑐𝑠𝑐𝑥
𝑐) 𝑐𝑜𝑠𝑥 + 𝑠𝑖𝑛𝑥𝑡𝑎𝑛𝑥
𝑑) 𝑠𝑒𝑐𝑥 − 𝑡𝑎𝑛𝑥𝑠𝑖𝑛𝑥

4) Simplify

𝑎) 
1 +

1
𝑠𝑖𝑛𝑥
⎯⎯⎯⎯

𝑐𝑜𝑡𝑥
⎯⎯⎯⎯⎯⎯⎯⎯  

𝑏) 
𝑡𝑎𝑛𝑥

1 +
1

𝑐𝑜𝑠𝑥
⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑐) 
1 + 𝑡𝑎𝑛𝑥

1 + 𝑐𝑜𝑡𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

9) Find Exact Value.
a) c𝑜𝑠15௢

𝑏) 𝑠𝑖𝑛105௢

c) cos ቀ
గ

ଵଶ
⎯⎯ቁ

𝑑) 𝑐𝑜𝑠 ቀ
଻గ

ଵଶ
⎯⎯ቁ

e) s𝑒𝑐15௢

𝑓) 𝑠𝑖𝑛255௢

𝑔) 𝑐𝑜𝑠285௢

ℎ) 𝑡𝑎𝑛75 =

6) Prove.
𝑎) 𝑐𝑠𝑐ଶ 𝑥 −

௖௢௧௫

௦௜௡௫
⎯⎯⎯ |  

ଵ

ଵା௖௢௦௫
⎯⎯⎯⎯⎯

𝑏) 𝑠𝑒𝑐𝑥 𝑠𝑖𝑛ଶ 𝑥 + 𝑐𝑜𝑠𝑥  | 𝑠𝑒𝑐𝑥

𝑐) 1 +
1

tanଶ 𝑥
⎯⎯⎯⎯⎯⎯ |  cscଶ 𝑥 

𝑑) 
ଵ

ଵି௖௢௦௫
⎯⎯⎯⎯⎯ +

ଵ

ଵା௖௢௦௫
⎯⎯⎯⎯⎯ | 2 cscଶ 𝑥

𝑒) 
𝑠𝑖𝑛𝑥

1 + 𝑐𝑜𝑠𝑥
⎯⎯⎯⎯⎯⎯⎯⎯+

𝑠𝑖𝑛𝑥

1 − 𝑐𝑜𝑠𝑥
⎯⎯⎯⎯⎯⎯⎯⎯|2𝑐𝑠𝑐𝑥

𝑓) (𝑠𝑖𝑛𝑥 − 𝑐𝑜𝑠𝑥)ଶ | 1 − 𝑠𝑖𝑛2𝑥
𝑔) 3 − 𝑠𝑖𝑛ଶ𝑥  | 2 + cosଶ 𝑥

7) Prove.
a) 

ଵା௦௜௡௫

ଵା௖௦௖௫
⎯⎯⎯⎯⎯ | 

௦௜௡௫

ଵି௦௜௡௫
⎯⎯⎯⎯⎯

𝑏) 
𝑐𝑠𝑐𝑥

1 + 𝑐𝑠𝑐𝑥
⎯⎯⎯⎯⎯⎯⎯⎯ | 

1

1 + 𝑠𝑖𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

c)  
௦௜௡௫

ଵା௖௢௦௫
⎯⎯⎯⎯⎯ |  

ଵି௖௢௦௫

௦௜௡௫
⎯⎯⎯⎯⎯

𝑑) 𝑠𝑒𝑐𝑥 + 𝑡𝑎𝑛𝑥 | 
𝑐𝑜𝑠𝑥

1 − 𝑠𝑖𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯

𝑒) 

1
𝑐𝑜𝑠𝑥
⎯⎯⎯⎯ − 𝑐𝑜𝑠𝑥

1 −
𝑠𝑖𝑛𝑥
𝑐𝑜𝑠𝑥
⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯|
sinଶ 𝑥

𝑐𝑜𝑠𝑥 − 𝑠𝑖𝑛𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯
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